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76. Choose proper article to complete the sentence :

— virtue has its own reward.

A)a B) the C) an ~ D) no article
77. Choose the correct form of the verb to complete following

sentence : He— french beforxe he went to France.

A) has learnt B) is learnt C) had learnt D) will learn
78. Choose the correct passive voice of the following sentence. It

is time to shut the shop.’ _

A) It is time for the shop being shut.

I?:) It is time for the shop to be shut.

C) It is time for the shop shutting. ‘

D) It is time for the shop having been shut.
79. The ship was set on fire and abandoned by the crew :

( Change it into active voice)

A) The crew set the ship on fire and abandoned it.

B) After the fire the crew abandoned the ship ‘

C) The crew abandoned the ship after it set to the fire.

D) As the ship set to fire, the crew abandoned it.

~ 72-B;73-C,74-A75C76D
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80. “Will I be in time?’ She said. The indirect form of thjg
sentences is..... " e
A) She asked she would be in time.
B) After the fire the crew abandoned the ship
C) She wanted to know if she would be in time.
D) She wants to know she can be in time.
81. He asked Rama to go with him. ( Change it into direct speech)
A) He asked Rama “Go with him.” '
B) He said to Rama ““Come with h1m
C) He asked to Rama, ““Will he come w1th him.”
D) He said to Rama, “Come with me.’
.82. What type of noun is the underlined. word‘? Wisdom is
better than strength"
A) Common Noun B) Proper Noun
C) Collective Noun ; D) Abstract Noun

84. Find out the word which cannot be used in plural.
" A)Metal B) Fruniture

C) Fruit i eained D)Shiop
85. I am the man— seeks your guidance.

Fill the blank using the correct relative pronoun

A) that B) who ~ C) which . D) whose
86. Which one of the adjectives is wrong?

A) Harm-Harmful

B) Beauty-BeautiﬁJl

 C) Waste- Wasteful
D) Pleasure—Pleasureﬁll
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87 Rewrite the sentence using positive degree:

Mumbai is one of the biggest cities of India.

A) Mumbai is bigger than other cities of India.

B) No other city of India is as big as Mumbai

C) Mumbai is bigger than many other cities of India
D) Very few cities of India are as big as Mumbai .

88. Choose the correct form of the verb to fill in the blank.
Either Pratap or Pradeep— done this mischief.

" A) have B) has
C) are | D) will

89. We ought to work hard. The modal auxiliary in the above
sentence expresses... _
A) duty | B) determination
C)theeati o0 " D) necessity

90. Select the correct sentence:

A) John is a good player. Is John?

B) John is a good player. Is not John.
" C) John is a good player, isn't he?

D) John is a good player. Is he?

91. Choose the correct preposition to fill in the blank :
Madhu left her bag—— telephone area then went home.
Ayak " B) beside
C) besides _ | D) arqund

92. It is too hot to go out. After removing too - to the sentence

will be.

A) It is extermely hot for gomg out.
B) It is hot enough to go out |
C) It is so hot that one cannot go out.
D) It is such hot that one can go out.
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93. He is not happy with his rclatwes and friends too. Use
neither-— nor in this sentence.
A) He is happy neither with his relatives not with his friends,
B) He is neither happy with his relatives nor with his friends,
C) He is happy neither with his relatives not his friends. -
D) He is ha;ﬁpy with neither his relatives not his friends.
94. Choose the correct complex sentence of the following simple
sentence :
He bought his friend’s library.
A) He bought the library of his friend.
B) He bought the library which belonged to his friend.
C) He bought the library because it belonged to his friend.
D) He wanted to buy his friend's library.
9S. Which of the following is correctly punctuated?
A) Although he is poor, he is -bright :
B) although he is poor, he is bright
C) although he is poor, he is bright.
D) Although he is poor! He is bright!
96. Choose the correct sentence from the fo!lowing.
A) The judge has passed order for his release.
B) The judge has passed some order for his release.
C) The judge has passed the order for his release.
D) The judge has passed a order for his release.
97. The phrase nearest to the meaning of Sympusmm is?
A) Meeting hall
B) Musical composition
C) Debate on a given topic )
D) Collection of opinions on a subject

_ 93-B94-B95-A96-C,97-D |
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98. What is meant by “Colloquial”?
A) Race
B) Culture g

C) Only the spoken language
D) Palace

99. Fifth columnist means:
A) A reporter
B) A Propagandist
C) A person against his own country
D) A person who prepares a documentary for TV

100. Choose the correct one word substitution for the phrase.
To send one away from one's Own country,

A) Exile
B) Enemy
C) Extradition
D) Traitor
-k-k*‘
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